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Sonderausriistungen: 7368 g
- Hubwerk 2 mit Sonderspitze 2,5m 2
- Hydraulisch verstellbare Klappspitze unter Last 2
Hakenflaschen
Rollen: 8

Eigengewicht (kg): 450




Teleskopkran 100 t LTM 1095-5.1

COLONIA

SPEZIALFAHRZEUGE

172

Die Arbeitsbereiche

334'm

292 m

w)
e
w
N

25m

208 m Fle~_[34| [ W |1a7 87 \4,8

6
26,7
/»758 211 123 a1 N\ 43 N

N
o

L~
B
|
B
N

16,6 m 46,5 17,2 10,5 '\ 63 \ 23 4

1 34,5

)
o
=
©
o
|
N
w
®
=
/
L1

I A AV A W I

69 26,5 10,6 \ \ \ 24 {27

125m

Bt

82° 0 |\ \ o1l

17,1
|
|

264 ¢
o}oxoxoxo ‘

8
6
4
2
0
m

0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48 50 52 54 56 58



LTM 1095-5.1 Teleskopkran 100 t
COLONIA
12,5-58m 7,4x7m 23t 360° 75%

' [12,5%12,5/16,6(20,8| 25 |29,2(33,4|37,6/41,8| 46 |50,2|54,4| 58 .
4N 4N
3 95 | 75 | 63 3
3,5 73 | 69 | 63 | 58 3,5
4 69 | 64 | 63 | 58 485 4
4,5 66 | 59 | 59 | 55 | 48 | 38 4,5
5 61 54 | 54 | 63 | 47 [375]| 30 5
6 495| 46 |465|46,5| 45 | 36 (293|224 6
7 41 |39,5(405| 40 | 40 | 35 | 284 | 22 |18,2 7
8 35 | 34 |345(345| 34 [335(273|209|175|13,7 8
9 30 [294| 30 [29,7|30,5[299|258(19,7|16,6[13,4]|10,3 9
10 |26,4(258|265|26,1|26,7[263|243(185|15,6[/12,9|10,1 8 10
11 23,6(23,7(23,61233|229(173|14,7[124| 9,8 8 6,2 11
12 21 (21,2|21,1/20,8(208|16,2(139|119| 95| 79 | 6,2 12
14 1711173(17,2|17,7({17,2|1143[124]10,7( 89 | 75 | 5,8 14
16 14,71149(14,7|14,4(126|11,1| 9,7 | 82 7 5,5 16
18 124|112,4(123| 12 [11,2| 10 | 87 | 76 | 65| 53 18
20 10,6/10,5(10,1| 10,1 9 8 7 6,1 5 20
22 9,1 9 8,7 9 82| 73| 65|56 47 22
24 78181|78]| 71|66 6 53 [ 44 24
26 68| 72| 68| 65|61 |55]| 49| 42 26
28 6,3 6 58| 54 5 46 | 39 28
30 56 | 53 [ 55| 47| 46 | 43| 37 30
32 4,7 | 48 | 44 | 4,2 4 3,4 32
34 43| 43 4 3,7 | 3,7 | 82 34
36 38| 37| 34| 34 3 36
38 34| 34| 32 3 29 38
40 3,1 3 2,7 | 2,7 40
42 27126 23|23 42
44 2,3 2 2 44
46 2 | 1,7 1,7]| 46
48 15| 15| 48
50 1,212 50
52 1 52
54 09| 54
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Teleskopkran 100 t LTM 1095-5.1

COLONIA
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12,56-58m 7,4x7m 13,6t 360° 75%

1112,5|16,6 | 20,8 | 25 |29,2|33,4|37,6|41,8| 46 |50,2|54,4| 58 '

69 63 58

QL
75 63 3

3,5
62 62 58 | 48,5 4
57 57 55 | 48 38 4,5
52 52 52 | 47 | 375 30

<
3
35
4
45
5 5
6 | 43 | 44 |435|405| 36 | 293|224 6
7 36 | 37 | 36 |345| 32 |284| 22 | 182 7
8 8
9 9
10
11
12
14
16
18

305|315| 31 [293|273]|266|209[175]|13,7
26,2 1269|268 |252|248| 23 |19,7| 16,6 13,4 | 10,3
22,2 1231]1233|219|216]20,1|185| 156|129 10,1 8 10
19,7 | 20,1 (202|191 17,7 | 16,6 [ 14,7 | 124 | 9,8 8 6,2 11
17,4181 (179 | 17 | 158|151 [139|119| 95 | 79 | 6,2 12
184 | 14 [ 141 ]13,7]|129|128[114]10,7| 89 | 75 | 58 14
11,2113 [11,2(11,1]10,7| 99 [ 92 | 82 7 5,5 16
92 ]93] 91| 96 9 84 | 77 | 76 | 65 | 53 18

20 78|77 8 |77 77| 7 | 65|61| 5 | 2
22 69 | 65| 68|67 | 66| 6157|5647 | 22
24 56 | 59 | 61 | 58 | 55| 53 | 49 | 44 | 24
26 48 | 51 (53|49 | 49| 47| 42| 41| 26
28 47 | 46 | 45| 42| 4 | 36| 35| 28
30 42| 4 | 4 [37|35|31| 3 | 30
32 35 [35[32| 3 | 27| 26| 32
34 31| 3 [ 28|26 |23|22]| 34
36 26 | 24| 22[19] 18| 36
38 23 |21[19[16 |15 38
40 18 | 1,6 | 1,3 | 1,3 | 40
42 15 13 ] 1 42
44 1,1 44

46 0,9 46
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Die Arbeitsbereiche
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Teleskopkran 100 t LTM 1095-5.1

COLONIA
176
(=1 = ~
A2 = S)|ow
46-58m 10,5m 7,4x7m 23t 360° 75%
46 50,2 54,4 58
o, | 0° | 20°| 40° | 0° | 20°| 40° | 0° | 20° | 40° | 0° | 20° | 40° (e,
9 7 9
10 | 7 5,1 10
12 7 5,1 4 3,2 12
14 | 7 |67 51 | 51 4 3,2 14
16 | 67 |64 |57 | 5 |49 39 | 39 32 | 32 16
18 [ 63| 6 |56 |49 |46 |45 |38 |37 |36 | 32|32 18

20 58 | 56 | 54 | 46 | 44| 42 | 36 | 36 | 35 | 32 | 3,1 | 3,1 20
22 54 |1 52 | 51 | 43 | 41 4 35 | 34 | 34 | 31 3 3 22
24 5 49 | 48 4 39 |38 | 33|32 32 3 29 | 29 24
26 47 | 45 | 45 | 38 | 36 | 36 | 32 | 31 | 381 [ 29 | 28 | 28 26
28 43 1 42 | 42 | 35 | 34 | 34 3 29 [ 29 | 2,7 | 2,7 | 2,7 28
30 39 [ 39 |39 (383 |33 [33 |29 |28 28] 26| 25| 25 30
32 36 | 3836 |36 31 | 31|31 27|27 ]| 27| 24| 24| 24 32
34 33 1383|3429 ]29]| 29|26 |25)] 25| 23| 23] 23 34
36 29 [ 31 (82|27 (2828 24| 24| 24| 22| 22| 22 36
38 25|27 [ 29|26 |26]|26|23)|23]|23)| 21|21 ]| 21 38
40 24 | 24 |1 25|23 ]24] 25| 22| 22| 22 2 2 2 40
42 22 | 283 | 23 2 21 122 21| 21 | 21 18 1 19 | 19 42

46 i6 (17|18 [ 18| 18 |18 | 15| 1,7 | 18 | 1,4 | 16 | 1,7 46
48 15|16 |16 (15| 17171214 ] 15| 12| 13| 14 48

50 14 | 15 13 14| 14 1 1,1 1,2 1 1,1 1,2 50
52 1,3 | 1,3 1,1 1,2 0,9 1 0,9 1 52
54 0,9 1 54

56 0,7 | 0,8 56
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46-58m 19m 7,4x7m 23t 360° 75%
46 50,2 54,4 58
< | 0° | 20°|40°| 0° | 20°|40°| 0° | 20°|40°| 0° | 20° | 40° fem, !
11 3 11
12 3 238 12
14 | 3 238 23 14
16 3 28 23 1,9 16
18 | 3 | 27 28 23 1,9 18
20 | 3 | 97 28 | 26 23 1,9 20
22 | 3 | 26 28 | 26 23 | 23 19 | 1,9 22
24 | 29 | 26|23 |27 |25]|22]| 23|23 19 | 1,9 24
26 | 28 |25 |22 |27 |25 |22 |23 |23 [21[18] 19 26

28 28 125 |22 |27 |24]22 |23 ]22] 21 18 [ 19 [ 1,9 28
30 27 124 |22 |26 |24] 222222 21 18 [ 19 [ 19 30
32 26 | 24122 |25 (23|21 | 21| 21 2 18 | 1,9 | 1,9 32
34 24 | 283 |22 | 24 | 23 | 21 2 2 2 1,7 | 1,8 | 1,8 34
36 23 2221|2322 21 2 19 (1917118 | 1,8 36
38 22 122 |21 |22 22| 21 19 119 (19 [ 1,7 | 1,7 | 1,7 38
40 21 121121 [ 2121 | 21 18|18 [ 18 [ 16 | 16 | 1,7 40
42 2 2 2 2 2 2 1,7 1 1,7 (1,7 [ 16 | 16 | 16 42
44 181919191919 |16 [ 16| 17| 15[ 15| 15 44
46 1,7 /18 (18|16 | 18 | 19 | 16 | 16 [ 16 [ 14 | 14 | 15 46
48 1,7 1 1,7 | 17|15 (| 17|18 |14 [ 15|15 | 13|14 | 14 48
50 14|16 |16 [ 14|14 |16 | 12| 14| 15 | 11 1,3 | 1,3 50
52 1214|115 [ 13| 13| 14 1 13|14 /09 |12 138 52

54 1,1 1,2 1 1,3 [ 11 13| 13| 08 [ 1,1 1,2 1 1,2 54
56 1 1,1 1,11 09 | 1,1 1,2 0,9 1 0,8 | 0,9 56
58 1 1 08 | 09 1 0,8 58
60 08 | 09 0,7 | 0,8 60
62 0,7 62
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Teleskopkran 100 t LTM 1095-5.1

COLONIA
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= = ~
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46-58m 10,5m 7,4x7m 13,6t 360° 75%
46 50,2 54,4 58
<] 0° | 20°|40° | 0° | 20°| 40° | 0° | 20° | 40° | 0° | 20° | 40° fum, |
9 7 9
10 7 5,1 10
12 7 5,1 4 32 12
14 7 | 67 51 | 5,1 4 3,2 14
16 6,7 | 64 | 57 5 4,9 39 [ 389 32 | 32 16
18 6,3 6 56 | 49 | 46 | 45 | 38 [ 87 | 36 | 32 | 3,2 18

20 58 | 56 | 54 | 46 | 44| 42 | 36 | 36 | 35 | 32 | 3,1 | 3,1 20
22 5 52 | 51 | 43 | 4.1 4 35 | 34 | 34 | 31 3 3 22
24 42 | 47 | 48 4 39 |38 | 33|32 32 3 29 | 29 24

28 34 | 35 | 37 3 3,4 | 34 3 29 [ 29 | 2,7 | 2,7 | 2,7 28
30 29 |33 (3833|2929 |32 |26 )| 28| 28| 25| 25| 25 30
32 26 | 28 3 26 | 27 | 27 | 22 | 25| 27 | 21| 24| 24 32
34 25 (25|26 |22 25|25 18| 21 | 28| 17 2 2,3 34
36 22 12312319 (2123|156 | 17 2 14 | 1,7 | 19 36

38 19 [ 21122 |16 | 18 2 1,2 [ 14| 1,6 13 [ 15 38
40 16 11,7119 [ 13| 15| 1,6 1,1 1,3 1,2 40
42 13 14 | 15 1 1,2 | 1.3 42
44 1 1,2 | 1,2 1 1,1 44

46 0,9 1 46




LTM 1095-5.1 Teleskopkran 100 t

COLONIA
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LR == L ‘
46-58m 19m 7,4x7m 13,6t 360° 75%
46 50,2 54,4 58

<0 | 0° | 20°|40°| 0° |20°|40°| 0° | 20° | 40° | 0° | 20° | 40° |,
11 3 11
12 3 2,8 12
14 3 2,8 2,3 14
16 3 2,8 2,3 1,9 16
18 3 2,7 2,8 23 1,9 18
20 3 2,7 28 | 26 23 1,9 20
22 3 | 26 28 | 26 23 | 23 19 | 1,9 22
24 2,9 2,6 2,3 2,7 2,5 2,2 2,3 2,3 1,9 1,9 24
26 28 | 25 | 22 | 27 25 |1 22 |1 23| 23 | 21 1,8 1,9 26

28 28 125 |22 |27 |24]22 |23 ]22] 21 18 [ 19 [ 1,9 28
30 27 124 |22 |26 |24] 222222 21 18 [ 19 [ 19 30
32 26 | 24122 |23 [23]21 | 21| 21 2 18 | 1,9 | 1,9 32
34 24 123 (22| 21|23 21 2 2 2 1,7 | 1,8 | 1,8 34
36 2 2,2 | 2,1 2 2,1 | 21 16 11919 [15 |18 | 1,8 36
38 19 [ 21 [ 211 1,7 | 1,9 | 21 1318 [ 19 [ 12 ]| 1,7 | 1,7 38

40 1,8 | 1,8 [ 2,1 16118 | 18 | 1,1 156 | 1,8 1,4 | 1,7 40
42 15117 |18 |12 | 16 | 1,7 1,2 | 16 1,1 1,5 42
44 1,3 | 16 | 16 1 1,3 ]| 16 1 1,3 1,2 44
46 1,1 13| 15 1,1 ] 1,3 1 0,9 46
48 1,1 1,3 1,1 48
50 0,9 1 50
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